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Sample Paper – 2008

Class – X

Subject – Mathematics
__________________________________________________
Set – I

Full Marks – 80 ]                                                     


[Time – 3 Hours    
Section – A [2 Marks each]
Q.1. Find the LCM and HCF of 6 and 20 by the prime factorization method. 

Q.2. Prove that 6 + √2 is an irrational number. 
Q.3. Find the zeros of the quadratic polynomial x2 + 7x + 10, and verify the relationship between the zeros and the coefficients.     
Q.4. Find the value of  k for which the quadratic equation   kx(x – 2) + 6 = 0    has two equal roots.                           
Q.5. The length of the minute hand of a clock is 14 cm. Find the area swept by the minute hand in 5 minutes.                     
Q.6. One card is drawn from a well-shuffled deck of 52 cards. Find the probability that the card drawn will be an ace.  
Q.7. The marks of 20 students in a test were as follows ;  

          5, 6, 8, 9, 10, 11, 11, 12, 13, 13, 14, 14, 15, 15, 15, 16, 16, 18, 19, 20. 

Calculate the mode. 

                                             Section – B [3 Marks each] 

Q.8. A box contains 3 blue, 2 white, and 4 red marbles. If a marble is drawn at random from the box, what is the probability that it will be 

         (i) white ?                             (ii) blue ?                       (iii) red ?   

Q.9. The distribution below shows the number of wickets taken by bowlers in one-day cricket matches. Find the mean number of wickets by choosing a suitable method. What does the mean signify ? 

	Number of wickets
	 20 – 60 
	 60 – 100 
	100 – 150 
	150 – 250 
	250 – 350 
	350 – 450 

	Number of bowlers
	      7
	      5
	      16
	     12
	       2
	       3


Q.10. Check whether the pair of equations 

                                 x + 3y  =  6  

          and                2x – 3y  =  12 

          is consistent. If so, solve them graphically.         
Q.11. Find two consecutive odd positive integers, sum of whose squares is 290. 
Q.12. Consider ∆ ACB, right-angled at C, in which AB = 29 units, BC = 21 units and angle ABC = θ. Determine the value of  : 

                                    Fig. 8.10/p.179 (T.B.) 

          (i) cos2θ   +  sin2θ                  (ii) cos2θ  –  sin2θ           
Q.13. If A, B and C are interior angles of a triangle ABC, then show that 

          sin (B + C)/2   =  cos A/2. 

Q.14. Prove that : sec A (1 – sin A)(sec A + tan A) = 1. 
Q.15. A TV tower stands vertically on a bank of a canal. From a point on the other bank directly opposite the tower, the angle of elevation of the top of the tower is 60º. From another point 20 m away from this point on the line joining this point to the foot of the tower, the angle of elevation of the top of the tower is 30º. Find the height of the tower and the width of the canal.                   
Q.16. Do the points (3,2), (– 2 , – 3) and (2,3) form a triangle ? If so, name the type of triangle formed.                                     
Q.17. A right circular cone is 84 cm high. The radius of the base is 35 cm. Find the area of the curved surface and  volume of the cone.           
Q.18. A quadrilateral ABCD is drawn to circumscribe a circle. Prove that : 

                         AB + CD = AD + BC 

                                                Fig. 10.12/p.214 (T.B.) 

Q.19. In fig. alongside ABC and DBC are two triangles on the same base BC. If AD intersects BC at O, show that : 

                      ar(ABC)/ar(DBC)  =  AO/DO. 

                                                 Fig.6,44/p.144 (T.B.) 

                                     Section – C [5 Marks each] 

Q.20. Obtain all other zeros of 3x4 + 6x3 – 2x2 – 10x – 5, if two of its zeros are √(5/3) and –  √(5/3).                                                     
Q.21. Form the pair of linear equations in the following problems and find their solutions , if they exist : ‘A part of monthly hostel charges is fixed and the remaining depends on the number of days one has taken  food in the mess. When a student A takes food for 20 days she has to pay Rs.1000 as hostel charges whereas a student B, who takes food for 26 days, pays Rs.1180 as hostel charges. Find the fixed charges and the cost of food per day’.  

Q.22. If A(– 5, 7 ), B(– 4, – 5), C(– 1, – 6) and D(4,5) are the vertices of a quadrilateral, find the area of the quadrilateral ABCD.     

Q.23. If a line is drawn parallel to one side of a triangle to intersect the other two sides in distinct points, then prove that the other two sides are divided in the same ratio. 

Q.24. Draw a circle of radius 3 cm. Take two points P and Q on one of its extended diameter each at a distance of 7 cm from its centre. Draw tangents to the circle from these two points P and Q. 

Q.25. A solid toy is in the form of a hemisphere surmounted by a right circular cone. The height of the cone is 2 cm and the diameter of the base is 4 cm. Determine the volume of the toy. If a right circular cylinder circumscribes the toy, find the difference of the volumes of the cylinder and the toy. (Take π = 3.14)  

                                                         ANSWERS    

1.  LCM = 60, HCF = 2  3.  – 2 and – 5  4.  k = 6  5.  154/3 cm2  6.  1/13   7.  15  8. (i) 2/9, (ii) 1/3, (iii) 4/9  9.  152.89  10.   x = 6, y = 0  11.  11 and 13   12. (i) 1 (ii) 41/841  

15. 10√3 m, 10 m   16. yes, right triangle  17.  10010 cm2, 107800cm3  20.  – 1, – 1 

21.  x + 20y = 1000, x + 26y = 1180, x = fixed charge = Rs.400, y = charge for food = Rs.30  22.   72 sq. units   25.   25.12 cm2, 25.12 cm3. 

                                                        Best of luck 

                                                 M. P. Keshari [09434150289]            
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